AR} U =11, 2, 3,4, 5 6 71012, A =11, 2, 3, 4, B =
{1, 3,5 7)< d, (AU B) = F-oH?

@ (1, 3) @ (2, 4 @{5, 7)
@ (3,5 7) ® (5,6, 7)

(AUB) =A°NB=BNA =B-A=(57T)




AR U o F F2A A, B o sk n(U) = 40, n(AUB) = 35,

=} Py B
n(ANB) =5,n(B) =30 <, n(B-A) 2 227

@s @ 7 ® 9 @11 613

n(B) = n(U) — n(B°) = 40 — 30 = 10
n(B—A)=n(B)-n(AnB)=10-5=5




3. 13 20 779 A% % 2 o] wjZo] A5t 3 o] 47} opd S0
A9

@® 574 @ 671 @7711 @ 87M ® 1074

n(A)=10,n(B) = 6,n(ANB) = 3 oJt}.
&t n(A-B)=n(A)-n(ANB)=10-3=7




2415 k 9 el v

N ot o], ok F (Ag U A12) N
(Ag UAg) I 2 k27

D As @ Ag ® Ay @ A @A18

Ag = {6, 12, 18, 24---}, Ag = {9, 18, 27, 39---}, Ajx =

(12, 24, 36, 48---}, A1s = {18, 36, 54---} O] 22 (A45UA12)N
(AgUAig) = Ag NAg = Asg




AAH ={3,4,5,6,7) o] A2 o}E F B2 X, ¥ o st
(XUY)-(XnY) 2 7P & 94t x ol £ o, ¥ <<< X 2t 514
U FE-}A=1(3,47,B=1{4,6,7}, C = {4,5,6} ]| thol
22 727

® A<<<B<<<C @ A<<<(C<<<B

@ B<<<A<<<C @ B<<<(C<<<A
(@)C<<<A<<<B

S5
1) %3 A, B ol tiste]
(AUB) — (AN B) = {3,6}
6€BOBRE A<<<B---O
i) A3t B,C o oo
(BUC)-(BNC)={5T}
7eBO|ERE C<<<B---©
iii) A% A,C of tiste]
(AUC)-(ANC) = (3,5,6,7)
TecAOBE C<<<A---®
L@, 0, O NAH C<<<A<<<B




AAQAT U = {(x|x<1009 A} o] Al REA A4 =
{x|x= 49 ¥i=), B = (x| x= 59 i), € = (x| x= 69 v}

o thste] n((A°N B)U (A - C)) & F5}tolgt.

B-~C

A°NB=B-A°|E=

(B-A)N(A-C) =02

~n((A°NB)U(A-C)) =n(A°NB)+n(A-C)

n(A°NB) =n(B-A) =n(B)—n(BNA)
=20-5=15

n(A-C) =n(A)-n(ANC) = 25-8 = 17

L1654+ 17 =32




